
PART NO. #TUBES PART NO. #TUBES PART NO.   2C-DW-5/8-16-8-3-2S-H8

2C-DW-0-1-4-3-2S 1 2C-DW-0-1-8-3-2S 1

2C-DW-3/8-2-4-3-2S 2 2C-DW-5/8-2-8-3-2S 2 Tubing/Pipe O.D. Size

2C-DW-3/8-3-4-3-2S 3 2C-DW-5/8-3-8-3-2S 3 Number Legend

2C-DW-3/8-4-4-3-2S 4 2C-DW-5/8-4-8-3-2S 4  1/4" O.D. = 4

2C-DW-3/8-5-4-3-2S 5 2C-DW-5/8-5-8-3-2S 5  3/8" O.D. = 6

2C-DW-3/8-6-4-3-2S 6 2C-DW-5/8-6-8-3-2S 6  1/2" O.D. = 8

2C-DW-3/8-7-4-3-2S 7 2C-DW-5/8-7-8-3-2S 7    3/4" O.D. = 12

2C-DW-3/8-8-4-3-2S 8 2C-DW-5/8-8-8-3-2S 8     1.0" O.D. = 16

2C-DW-3/8-9-4-3-2S 9 2C-DW-5/8-9-8-3-2S 9 1-1/4" O.D. = 20

2C-DW-3/8-10-4-3-2S 10 2C-DW-5/8-10-8-3-2S 10 1-1/2" O.D. = 24

2C-DW-3/8-11-4-3-2S 11 2C-DW-5/8-11-8-3-2S* 11     2.0" O.D. = 28

2C-DW-3/8-12-4-3-2S 12 2C-DW-5/8-12-8-3-2S* 12

2C-DW-3/8-13-4-3-2S 13 2C-DW-5/8-13-8-3-2S* 13 Tubing Spacing

2C-DW-3/8-14-4-3-2S* 14 2C-DW-5/8-14-8-3-2S* 14 Center to Center

2C-DW-3/8-15-4-3-2S* 15 2C-DW-5/8-15-8-3-2S* 15 1/4" O.D. = 3/8"

2C-DW-3/8-16-4-3-2S* 16 2C-DW-5/8-16-8-3-2S* 16 3/8" O.D. = 1/2"

2C-DW-3/8-17-4-3-2S* 17 2C-DW-5/8-17-8-3-2S* 17 1/2" O.D. = 5/8"

2C-DW-3/8-18-4-3-2S* 18 2C-DW-5/8-18-8-3-2S* 18 3/4" O.D. = 7/8"

2C-DW-3/8-19-4-3-2S* 19 2C-DW-5/8-19-8-3-2S* 19

2C-DW-3/8-20-4-3-2S* 20 2C-DW-5/8-20-8-3-2S* 20 Minimum number of bolt sets/holes

2C-DW-3/8-21-4-3-2S* 21 2C-DW-5/8-21-8-3-2S** 21 included noted by asterisks

2C-DW-3/8-22-4-3-2S* 22 2C-DW-5/8-22-8-3-2S** 22 none = 2 SETS

2C-DW-3/8-23-4-3-2S* 23 2C-DW-5/8-23-8-3-2S** 23         * = 3 SETS

2C-DW-3/8-24-4-3-2S* 24 2C-DW-5/8-24-8-3-2S** 24      ** = 4 SETS

2C-DW-3/8-25-4-3-2S* 25 2C-DW-5/8-25-8-3-2S** 25   *** = 5 SETS

2C-DW-5/8-26-8-3-2S** 26 **** = 6 SETS

2C-DW-5/8-27-8-3-2S** 27 ***** = 7 SETS

2C-DW-5/8-28-8-3-2S** 28

2C-DW-5/8-29-8-3-2S** 29 *OPTION: FOR PART NUMBERS WITH

2C-DW-5/8-30-8-3-2S** 30 ASTERISKS ADD CODE FOR

BOLTING LOCATIONS:

H2 = BOLT SET FOR EVERY 2 TUBES

H3 = BOLT SET FOR EVERY 3 TUBES

H4 = BOLT SET FOR EVERY 4 TUBES

H5 = BOLT SET FOR EVERY 5 TUBES

H6, ETC.

EX:  2C-DW-5/8-19-8-3-2S-H5

GANG CLAMPING

Tubing centers and spacing is optional and can be made to customer request. Replace fraction with desired spacing.

PACKAGED ASSEMBLIES WITH TWO 316 STAINLESS OR ALUMINUM PLATE/BAR AND 316SS HARDWARE 3 POINT CONTACT

REPLACE LETTER "S" IN PART NUMBERS WITH LETTER "A" FOR ALUMINUM COVER PLATES/BARS

1/4" O.D. TUBE CLAMP ASSEMBLIES                                     

(METRIC 5mm-6mm)              3/8" TUBE CENTERS

1/2" O.D. TUBE CLAMP ASSEMBLIES                                     

(METRIC 10mm-13mm)         5/8" TUBE CENTERS

Visit www.versa-clamp.us                                                        Contact: info@versa-clamp.us                                                                                       6.1



PART NO. #TUBES PART NO. #TUBES

2C-DW-0-1-6-3-2S 1 2C-DW-0-1-12-3-2S 1

2C-DW-1/2-2-6-3-2S 2 2C-DW-7/8-2-12-3-2S 2

2C-DW-1/2-3-6-3-2S 3 2C-DW-7/8-3-12-3-2S 3 Minimum number of bolt sets

2C-DW-1/2-4-6-3-2S 4 2C-DW-7/8-4-12-3-2S 4 included noted by asterisks

2C-DW-1/2-5-6-3-2S 5 2C-DW-7/8-5-12-3-2S 5 none = 2 SETS

2C-DW-1/2-6-6-3-2S 6 2C-DW-7/8-6-12-3-2S 6         * = 3 SETS

2C-DW-1/2-7-6-3-2S 7 2C-DW-7/8-7-12-3-2S 7      ** = 4 SETS

2C-DW-1/2-8-6-3-2S 8 2C-DW-7/8-8-12-3-2S 8   *** = 5 SETS

2C-DW-1/2-9-6-3-2S 9 2C-DW-7/8-9-12-3-2S* 9 **** = 6 SETS

2C-DW-1/2-10-6-3-2S 10 2C-DW-7/8-10-12-3-2S* 10 ***** = 7 SETS

2C-DW-1/2-11-6-3-2S 11 2C-DW-7/8-11-12-3-2S* 11

2C-DW-1/2-12-6-3-2S 12 2C-DW-7/8-12-12-3-2S* 12 *OPTION: FOR PART NUMBERS WITH

2C-DW-1/2-13-6-3-2S 13 2C-DW-7/8-13-12-3-2S** 13 ASTERISKS ADD CODE FOR

2C-DW-1/2-14-6-3-2S* 14 2C-DW-7/8-14-12-3-2S** 14 BOLTING LOCATIONS

2C-DW-1/2-15-6-3-2S* 15 2C-DW-7/8-15-12-3-2S** 15 H2 = BOLT SET FOR EVERY 2 TUBES

2C-DW-1/2-16-6-3-2S* 16 2C-DW-7/8-16-12-3-2S** 16 H3 = BOLT SET FOR EVERY 3 TUBES

2C-DW-1/2-17-6-3-2S* 17 2C-DW-7/8-17-12-3-2S** 17 H4 = BOLT SET FOR EVERY 4 TUBES

2C-DW-1/2-18-6-3-2S* 18 2C-DW-7/8-18-12-3-2S** 18 H5 = BOLT SET FOR EVERY 5 TUBES

2C-DW-1/2-19-6-3-2S* 19 2C-DW-7/8-19-12-3-2S*** 19 H6, ETC.

2C-DW-1/2-20-6-3-2S* 20 2C-DW-7/8-20-12-3-2S*** 20 EX:  2C-DW-7/8-35-12-3-2S-H5
2C-DW-1/2-21-6-3-2S* 21 2C-DW-7/8-21-12-3-2S*** 21

2C-DW-1/2-22-6-3-2S* 22 2C-DW-7/8-22-12-3-2S*** 22

2C-DW-1/2-23-6-3-2S* 23 2C-DW-7/8-23-12-3-2S*** 23

2C-DW-1/2-24-6-3-2S* 24 2C-DW-7/8-24-12-3-2S*** 24

2C-DW-1/2-25-6-3-2S* 25 2C-DW-7/8-25-12-3-2S**** 25

2C-DW-1/2-26-6-3-2S* 26 2C-DW-7/8-26-12-3-2S**** 26

2C-DW-1/2-27-6-3-2S** 27 2C-DW-7/8-27-12-3-2S**** 27

2C-DW-1/2-28-6-3-2S** 28 2C-DW-7/8-28-12-3-2S**** 28

2C-DW-1/2-29-6-3-2S** 29 2C-DW-7/8-29-12-3-2S**** 29

2C-DW-1/2-30-6-3-2S** 30 2C-DW-7/8-30-12-3-2S**** 30

2C-DW-7/8-31-12-3-2S***** 31

2C-DW-7/8-32-12-3-2S***** 32

2C-DW-7/8-33-12-3-2S***** 33

2C-DW-7/8-34-12-3-2S***** 34

2C-DW-7/8-35-12-3-2S***** 35

2C-DW-7/8-36-12-3-2S***** 36

PART NO. #TUBES PART NO. #TUBES

2C-DW-1 1/4-2-12-3-2S 2 2C-DW-1 1/4-13-12-3-2S*** 13

2C-DW-1-1/4-3-12-3-2S 3 2C-DW-1-1/4-14-12-3-2S*** 14

2C-DW-1-1/4-4-12-3-2S 4 2C-DW-1-1/4-15-12-3-2S*** 15

2C-DW-1-1/4-5-12-3-2S 5 2C-DW-1-1/4-16-12-3-2S*** 16

2C-DW-1 1/4-6-12-3-2S* 6 2C-DW-1 1/4-17-12-3-2S*** 17

2C-DW-1 1/4-7-12-3-2S* 7 2C-DW-1 1/4-18-12-3-2S**** 18

2C-DW-1 1/4-8-12-3-2S* 8 2C-DW-1 1/4-19-12-3-2S**** 19

2C-DW-1 1/4-9-12-3-2S* 9 2C-DW-1 1/4-20-12-3-2S**** 20

2C-DW-1 1/4-10-12-3-2S* 10 2C-DW-1 1/4-21-12-3-2S**** 21

2C-DW-1 1/4-11-12-3-2S** 11 2C-DW-1 1/4-22-12-3-2S****** 22

2C-DW-1 1/4-12-12-3-2S** 12 2C-DW-1 1/4-23-12-3-2S***** 23

3/4" O.D. TUBE/PIPE CLAMP ASSEMBLIES                          

(METRIC 14mm-19mm)       1-1/4" TUBE CENTERS

Visit www.versa-clamp.us                                                Contact: info@versa-clamp.us                                                                                6.2

3/4" O.D. TUBE/PIPE CLAMP ASSEMBLIES                          

(METRIC 14mm-19mm)       1-1/4" TUBE CENTERS

3/8" O.D. TUBE CLAMP ASSEMBLIES                                     

(METRIC 7mm-9mm)           1/2" TUBE CENTERS

3/4" O.D. TUBE/PIPE CLAMP ASSEMBLIES                          

(METRIC 14mm-19mm)       7/8" TUBE CENTERS

CHANGE 7/8" TO 1-1/4" FOR 1/2" 

SPACING BETWEEN 3/4" TUBING  



PART NO. #TUBES PART NO. #TUBES

2C-DW-0-1-16-3-2S 1 2C-DW-0-1-20-3-2S 1

2C-DW-1 1/8-2-16-3-2S 2 2C-DW-1 1/2-2-20-3-2S 2

2C-DW-1 1/8-3-16-3-2S 3 2C-DW-1 1/2-3-20-3-2S 3

2C-DW-1 1/8-4-16-3-2S 4 2C-DW-1 1/2-4-20-3-2S 4

2C-DW-1 1/8-5-16-3-2S 5 2C-DW-1 1/2-5-20-3-2S 5

2C-DW-1 1/8-6-16-3-2S 6 2C-DW-1 1/2-6-20-3-2S* 6

2C-DW-1 1/8-7-16-3-2S 7

2C-DW-1 1/8-8-16-3-2S 8 Minimum number of bolt sets Tubing/Pipe O.D. Size

2C-DW-1 1/8-9-16-3-2S* 9 included noted by asterisks Number Legend

2C-DW-1 1/8-10-16-3-2S* 10 none = 2 SETS      1.0" O.D. = 16

2C-DW-1 1/8-11-16-3-2S* 11         * = 3 SETS 1-1/4" O.D. = 20

2C-DW-1 1/8-12-16-3-2S* 12      ** = 4 SETS 1-1/2" O.D. = 24

2C-DW-1 1/8-13-16-3-2S* 13   *** = 5 SETS     2.0" O.D. = 28

2C-DW-1 1/8-14-16-3-2S* 14 **** = 6 SETS

2C-DW-1 1/8-15-16-3-2S** 15 ***** = 7 SETS

2C-DW-1 1/8-16-16-3-2S*** 16 ****** = 8 SETS

2C-DW-1 1/8-17-16-3-2S** 17 *OPTION: FOR PART NUMBERS WITH

2C-DW-1 1/8-18-16-3-2S** 18   ASTERISKS ADD CODE FOR

2C-DW-1 1/8-19-16-3-2S*** 19   BOLTING LOCATIONS

2C-DW-1 1/8-20-16-3-2S*** 20 H2 = BOLT SET FOR EVERY 2 TUBES

2C-DW-1 1/8-21-16-3-2S** 21 H3 = BOLT SET FOR EVERY 3 TUBES

2C-DW-1 1/8-22-16-3-2S*** 22 H4 = BOLT SET FOR EVERY 4 TUBES

2C-DW-1 1/8-23-16-3-2S*** 23 H5 = BOLT SET FOR EVERY 5 TUBES

2C-DW-1 1/8-24-16-3-2S*** 24 H6, ETC.

2C-DW-1 1/8-25-16-3-2S**** 25 EX: 2C-DW-1 1/8-30-16-3-2S-H3
2C-DW-1 1/8-26-16-3-2S**** 26

2C-DW-1 1/8-27-16-3-2S**** 27

2C-DW-1 1/8-28-16-3-2S****** 28

REPLACE 1-1/8" WITH 1-1/2" FOR 1/2" SPACING BETWEEN 1" TUBING

PART NO. #TUBES

2C-DW-1 1/2-2-16-3-2S 2 2C-DW-1 1/2-15-16-3-2S** 15

2C-DW-1 1/2-3-16-3-2S 3 2C-DW-1 1/2-16-16-3-2S*** 16

2C-DW-1 1/2-4-16-3-2S 4 2C-DW-1 1/2-17-16-3-2S** 17

2C-DW-1 1/2-5-16-3-2S 5 2C-DW-1 1/2-18-16-3-2S** 18

2C-DW-1 1/2-6-16-3-2S* 6 2C-DW-1 1/2-19-16-3-2S*** 19

2C-DW-1 1/2-7-16-3-2S* 7 2C-DW-1 1/2-20-16-3-2S*** 20

2C-DW-1 1/2-8-16-3-2S* 8 2C-DW-1 1/2-21-16-3-2S*** 21

2C-DW-1 1/2-9-16-3-2S** 9 2C-DW-1 1/2-22-16-3-2S**** 22

2C-DW-1 1/2-10-16-3-2S* 10 2C-DW-1 1/2-23-16-3-2S*** 23

2C-DW-1 1/2-11-16-3-2S** 11 2C-DW-1 1/2-24-16-3-2S*** 24

2C-DW-1 1/2-12-16-3-2S** 12 2C-DW-1 1/2-25-16-3-2S**** 25

2C-DW-1 1/2-13-16-3-2S** 13 2C-DW-1 1/2-26-16-3-2S***** 26

2C-DW-1 1/2-14-16-3-2S** 14 2C-DW-1 1/2-27-16-3-2S***** 27

Visit www.versa-clamp.us                                                      Contact: info@versa-clamp.us                                                                                 6.3

1" - 1.1" O.D. TUBE/PIPE CLAMP ASSEMBLIES                         

(METRIC 20mm-28mm)   1-1/2" TUBE CENTERS

1" O.D. TUBE/PIPE CLAMP ASSEMBLIES                         

(METRIC 20mm-26mm)   1-1/8" TUBE CENTERS

1- 1/4" O.D. TUBE CLAMP ASSEMBLIES                           

1.5" TUBE CENTERS



PART NO. #TUBES PART NO. #TUBES

2C-DW-0-1-24-3-2S 1 2C-DW-0-1-28-3-2S 1 Tubing/Pipe O.D. Size

2C-DW-2-2-24-3-2S 2 2C-DW-2 1/2-2-28-3-2S 2 Number Legend

2C-DW-2-3-24-3-2S 3 2C-DW-2 1/2-3-28-3-2S 3      1.0" O.D. = 16

2C-DW-2-4-24-3-2S 4 2C-DW-2 1/2-4-28-3-2S 4 1-1/4" O.D. = 20

2C-DW-2-5-24-3-2S 5 2C-DW-2 1/2-5-28-3-2S 5 1-1/2" O.D. = 24

2C-DW-2-6-24-3-2S 6 2C-DW-2 1/2-6-28-3-2S 6     2.0" O.D. = 28

2C-DW-2-7-24-3-2S 7 2C-DW-2 1/2-7-28-3-2S 7

2C-DW-2-8-24-3-2S 8 2C-DW-2 1/2-8-28-3-2S 8

2C-DW-2-9-24-3-2S 9 2C-DW-2 1/2-9-28-3-2S 9

2C-DW-2-10-24-3-2S 10 2C-DW-2 1/2-10-28-3-2S 10 *Includes a bolt set for every two 

2C-DW-2-11-24-3-2S 11 2C-DW-2 1/2-11-28-3-2S 11   and three tubes.

2C-DW-2-12-24-3-2S 12 2C-DW-2 1/2-12-28-3-2S 12

2C-DW-2-13-24-3-2S 13 2C-DW-2 1/2-13-28-3-2S 13

2C-DW-2-14-24-3-2S 14 2C-DW-2 1/2-14-28-3-2S 14

2C-DW-2-15-24-3-2S 15 2C-DW-2 1/2-15-28-3-2S 15

2C-DW-2-16-24-3-2S 16 2C-DW-2 1/2-16-28-3-2S 16

2C-DW-2-17-24-3-2S 17 2C-DW-2 1/2-17-28-3-2S 17

2C-DW-2-18-24-3-2S 18 2C-DW-2 1/2-18-28-3-2S 18

2C-DW-2-19-24-3-2S 19 2C-DW-2 1/2-19-28-3-2S 19

2C-DW-2-20-24-3-2S 20 2C-DW-2 1/2-20-28-3-2S 20

Visit www.versa-clamp.us                                                   Contact: info@versa-clamp.us                                                                                 6.4

1- 1/2" O.D. TUBE/PIPE CLAMP ASSEMBLIES              2" 

TUBE CENTERS, 1/2" SPACING BETWEEN  INCLUDES 

BOLT SET FOR EVERY TWO AND 3 TUBES

2.0" O.D. TUBE/PIPE CLAMP ASSEMBLIES                                     

2-1/2" TUBE CENTERS, 1/2"  SPACING BETWEEN       

INCLUDES BOLT SET FOR EVERY TWO AND 3 TUBES


